Stat 100A -Intro Probability
Midterm 2 (1) Answer sheet
Only this sheet will be graded.
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" Problem 1. People enter a gambling casino at arate of 1 for every two mmu »
enters between 12:00 a.nd 12:05? Show work. h= 25> [Paissan
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must be true for your answer to be correct? Show work.
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Problem 6. A diagnostic test for the presence of a disease has two possible outcomes'
for disease not present. Let X denote the disease state of a patient, and let Y deno '
test. The joint probability function of X and Y is given by P(X=0,Y=0) =

= 0.025, P(X=1,Y=1) = 0.125. Calculate variance of the outcome of the dlagnostl
Show work. ' EQ\X‘\)S,@& ﬂﬁ(’} Lol (

Problem'S. D:'ﬁly sales records for : (
Number of cars (X) , :
Probability (PX) [ 05 |




